
1Achievers

1. (c) þxyöì›!îû„þy ë%_«îûyÜTÉ 1945 ¢yöìœîû 6 xy†ÞÝþ ‹yþ™yöì˜îû
!£öìîûy!Ÿ›y Ÿ£öìîûîû vþzþ™îû ò!œÝþœ îëûó ˜yöì› ~„þ!Ýþ !˜vþz„Ïþ#ëû
öîy›y !îöìßþ³þyîû’ ‡Ýþyëû ~î‚ 9 xy†ÞÝþ ˜y†y¢y!„þöì“þ òšþÄyÝþ
›Äy˜ó ˜yöì› xyöìîû„þ!Ýþ !˜vþz„Ïþ#ëû öîy›y !îöìßþ³þyîû’ „þöìîû!ŠéœÐ

2. (b) þ„þy!ßþ™ëûy˜ ¢y†îû xyëû“þöì̃  þ™,!íî#îû î,£_› xyîkþ ‹œyŸëûÐ
~îû xyëû“þ˜ ~„þ!Ýþ ¢Á™)’Å ¢y†öìîûîû ¢›y˜Ð

3. (d) þx˜%„)þœ xyî£yçëûy ~î‚ vþz§¬“þ „,þ!¡ì þ™kþ!“þ ~£z îûyöì‹Äîû
„,þ!¡ìöìÇþeöì„þ !‰þ˜yîy”y› ‰þyöì¡ìîû x˜%„)þœ „þöìîû “%þöìœöìŠéÐ

4. (a) þò›Äyöìvþy˜yó !‰þe!ŸÒ!Ýþ !‰þe!ŸÒ# îûyšþyöìëûöìœîû ¢,!ÜTÐ ~£z !‰þöìe
ö›!îû– ë#Ö ç ‹˜ îÄyþ™!ÝþÞÝþ ~öì„þ xþ™öìîûîû ¢öìD ë%_«Ð

5. (c) þ¦þyîû“þ#ëû ßþºy•#˜“þy ¢‚@ùÌy›# œyœy œy‹þ™“þ îûyëû òþ™yOyî
ö„þŸîû#ó ˜yöì› þ™!îû!‰þ“þ !Šéöìœ˜Ð !“þ!˜ ¦þyîû“þ#ëû ‹y“þ#ëû
„þ‚öì@ùÌöì¢îû ‰þîû›þ™sþi# ”öìœîû x˜Ä“þ› ö˜“þyç !Šéöìœ˜Ð

6. (b) !“þ!˜ ~„þ‹˜ „þ!î– †yëû„þ ~î‚ x!¦þ•y˜ç !œöì…!Šéöìœ˜Ð
…¢îû&öì„þ ò¦þyîûöì“þîû „þZþßþºîûó îy ò¦þyîûöì“þîû ö“þy“þyþ™y!…ó ~î‚
òvþz”%Å ¢y!£öì“þÄîû ‹˜„þóéôéç îœy £ëûÐ

7. (c) þò›˜¢î”y!îûó ²Ìíyîû ›y•Äöì› ›%‡œ ¢yÁËyöì‹Äîû ²ÌŸy¢!˜„þ
„þ›Å„þ“Åþyöì”îû vþzF‰þ öíöì„þ !˜Á¬hßþöìîûîû !î!¦þ§¬ þ™”›ëÅy”y !˜•Åyîû’
„þîûy £“þÐ 1571 ¢yöìœ ›%‡œ ¢ÁËyÝþ xy„þîîû ~!Ýþ ‰þyœ% „þöìîû̃ Ð
~£z îÄîßþiy!Ýþ öî¢y›!îû„þ ~î‚ ¢y›!îû„þ vþz¦þëû ²ÌŸy¢!˜„þ þ™öì”îû
‹˜Ä ²Ìöìëy‹Ä £“þÐ

8. (b) þîîûy£!›!£îû !Šéöìœ˜ ²Ìy‰þ#˜ ¦þyîûöì“þîû =® ¢yÁËyöì‹Äîû
¢›¢y›!ëû„þ ~„þ‹˜ !î…Äy“þ ”yŸÅ!˜„þ– ö‹Äy!“þ!îÅKþy˜#–
†y!’!“þ„þ ç „þ!îÐ !“þ!˜ òþ™Mþé!¢kþy!hsþ„þyó ˜yöì›îû ~„þ
ö‹Äy!“þ!îÅKþy˜ !îöìÙÕ¡ì„þ ›£y@ùÌsþi îû‰þ˜y „þöìîû!Šéöìœ˜Ð

9. (c) þ¢%̃ #œ †öìDyþ™y•Äyëû îy‚œy ¢y!£!“þÄ„þ ~î‚ ~„þy•yöìîû „þ!î–
èþ™˜Äy!¢„þ– öŠéyöìÝþy†Ò„þyîû– ¢Á™y”„þ– ¢y‚îy!”„þ !£öì¢öìî
x‹ßþË îû‰þ˜y vþzþ™£yîû !”öìëûöìŠé˜Ð !“þ!˜ ò˜#œöìœy!£“þó– ò¢˜y“þ˜
þ™yàþ„þó– ò˜#œ vþzþ™y•Äyëûó Šép˜y› îÄî£yîû „þöìîûöìŠé˜Ð

10. (c) þ¢%£zê‹yîûœÄyöìuþîû ö‹öì̃ ¦þyëû WTOéôéîû ¢”îû ”®îû xî!ßþi“þÐ
~…yöì̃ WTO Šéyvþüyç xyîûç xöì̃ „þ ‹y!“þ¢‚‡ ~î‚ x˜Äy˜Ä
xyhsþ‹Åy!“þ„þ ¢‚ßþiy îûöìëûöìŠéÐ

11. (b) þvþz!˜Ÿ Ÿ“þöì„þîû ²Ìí› !”öì„þ •›Å#ëû ç îûy‹÷ì̃ !“þ„þ xyöì̈ yœ˜
îû*öìþ™ šþîûy!‹ xyöì̈ yœöì̃ îû ¢)eþ™y“þ £öìëû!ŠéœÐ ¢›y‹ ¢‚ßþñyîû„þ
£y!‹ Ÿ!îûëû“%þÍÔy£ ~£z xyöì̈ yœöì̃  ›%…þ™ye !Šéöìœ˜Ð “¤þyîû
›,“%þÄîû þ™îû ”%”%!›~Œy ~öì“þ ö˜“,þc ö”˜Ð

12. (a) þŠéeþ™!“þ !Ÿîy‹# îûyöì‹ ö¦¤þy¢öìœ ßþºy•#˜ ›yîûyàþy ¢yÁËyöì‹Äîû
²Ì!“þÛþy“þy !Šéöìœ˜Ð !“þ!˜ 1674 ¢yöìœîû 6 ‹%˜ ›yîûyàþy
¢yÁËyöì‹Äîû x!•þ™!“þîû*öìþ™ òŠéeþ™!“þó îy îûy‹yîû ›%„%þÝþ •yîû’
„þöìîû !¢‚£y¢öì̃  xyöìîûy£’ „þöìîû̃ Ð

13. (d) þîy¢%öì”î îœîhsþ šþyvþüöì„þ ¦þyîûöì“þîû ßþºy•#˜“þy ¢‚@ùÌyöì›îû ¢Ÿßþf
!î²Õöìîîû ‹˜„þ !£öì¢öìî !‰þîûßþ¿îû’#ëûÐ ö„þyœ– ¦þ#œ– ›y£yîû–
îûyöì›y!Ÿ– •yˆvþü “þíy„þ!í“þ xhsþÄ‹ ‹˜öì†yÛþ#îû ¢”¢Äöì”îû
¢öìD !˜öìëû ~„þ !î²Õî# ”œ †àþ˜ „þöìîû!Šéöìœ˜Ð

14. (b) þ„þÄy!˜‚ 1837 öíöì„þ 1859 þ™ëÅhsþ !¢þ™y£# !îöìoyöì£îû ¢›ëû
¦þyîûöì“þîû †¦þ˜Åîû ö‹˜yöìîûœ !Šéöìœ˜Ð

15. (d) þ†y!õþ‹# ò¢“þÄy@ùÌ£ó Ÿ·!Ýþ ²Ìí› îÄî£yîû „þöìîû̃  îûyçœyÝþ
xy£zöì̃ îû !îîû&öìkþ ²Ì!“þîy” ‹y˜yöì“þÐ ò¢“þÄy@ùÌ£ó xyöì̈ yœöì̃ îû
›y•Äöì› †y!õþ‹# x!£‚¢ ²Ì!“þöìîûyöì•îû þ™öìí ‰þœöì“þ öŸ…y˜
›y˜%¡ìöì„þÐ 1917 ¢yöìœ !î£yöìîûîû ‰þÁ™yîûöì’ ¢‚‡!Ýþ“þ
¢“þÄy@ùÌ£ xyöì̈ yœ˜ !Šéœ †y!õþ‹#îû þ™!îû‰þy!œ“þ ¦þyîûöì“þ ²Ìí›
¢“þÄy@ùÌ£Ð

16. (b) þö†ïvþüîûy‹ œ"’ ö¢öì̃ îû ¢¦þy„þ!î !Šéöìœ˜ ‹ëûöì”îÐ !“þ!˜
¢‚ßþ,ñ“þ ¦þy¡ìyëû 12 Ÿ“þöì„þ ò†#“þöì†y!î¨›ó îû‰þ˜y „þöìîû̃ Ð ~£z
@ùÌöìsþi ×#„,þöì¡Œîû î,¨yîöì˜ ö†y!þ™˜#öì”îû ¢öìD îûy¢œ#œy–
îûy•yéôé„,þöì¡Œîû ö²Ì›– !îîû£– îÄy„%þœ“þyîû î’Å̃ y „þöìîûöìŠé˜Ð

17. (a) þö‹öìîûyšþy£zÝþ vþz!q” ÖÜñ xyî£yçëûyëû xÒ ‹öìœ öî¤öì‰þ íy„þöì“þ
þ™yöìîûÐ ‹œ ¢‚îûÇþöì’îû ‹˜Ä ~£z vþz!qöì”îû „þyàþyöì›y†“þ ~î‚
Ÿyîû#îûî,_#ëû x!¦þöìëy‹˜ îûöìëûöìŠéÐ

18. (c) þ„þÒ˜y ”_ ßþºy•#˜“þy xyöì̈ yœöì̃ îû ~„þ‹˜ !î²Õî# ˜yîû# ~î‚
›%!_«öìëykþy !£öì¢öìî òî#îû ›!£œyó ˜yöì› þ™!îû!‰þ“þ £öìëûöìŠé˜Ð
1930 ¢yöìœ !“þ!˜ ‰þR@ùÌy› xßþfy†yîû œ%Zþöì˜ x‚Ÿ@ùÌ£’
„þöìîû!Šéöìœ˜ ~î‚ ëyîI#î˜ „þyîûy”öì[þ ”![þ“þ £˜Ð

19. (d) þ!îöìÙ»îû ¢îöìíöì„þ öŠéyÝþ ö”Ÿ ¦þÄy!Ýþ„þy˜ !¢!Ýþ– ëyîû xyëû“þ˜
›ye 0.49 î†Å!„þöìœy!›Ýþyîû S0.10 î†Å›y£zœVÐ !îöìÙ»îû ›öì•Ä
î,£_› ö”Ÿ £œ îûy!Ÿëûy– ëyîû ö›yÝþ xyëû“þ˜ 1–70–98–242
î†Å!„þöìœy!›Ýþyîû S6–601–665 î†Å!„þöìœy!›ÝþyîûVÐ ~!Ýþ !îöìÙ»îû
¦)þ!›îû ö›yÝþ xyëû“þöì̃ îû 11%Ð

20. (a) þ!¢!œ„þ˜ „þyîÅöì̃ îû îû*þ™ ˜ëû– ~!Ýþ ~„þ!Ýþ ö›ïœ– ~îû ²Ì“þ#„þ SiÐ
£#îûy ¢îÅyöìþ™Çþy ›)œÄîy˜ îûbÐ î’Å£#˜ ~£z îûb!Ýþ „þyîÅ̃  öíöì„þ
¢,ÜT– îy îœy ëyëû ~!Ýþ „þyîÅöì̃ îû !îöìŸ¡ì îû*þ™›yeÐ @ùÌyšþy£zÝþ
£öìFŠé xDyîû îy „þyîÅöì̃ îû ~„þ!Ýþ îû*þ™Ð ~îû xy„,þ!“þ ¡ìÝþéôéö„þï!’„þ–
ëy ßþ³þ!Ýþöì„þîû ›öì“þyÐ

š%þöìœ!îû̃  £œ „þyîÅöì̃ îû ~„þ!Ýþ xÄyöìœyöìÝþÆyþ™ ëy ~„þ!Ýþ š¤þyþ™y
ö†yœ„þ– vþzþ™î,_y„þyîû– ˜œ ~î‚ x˜Äy˜Ä xy„þyöìîû ÷“þ!îûÐ

21. (c) þ£y£zö ìvÈþyö ì‹œ öœª=!œ îy „þrÝþyQ öœª ÷“þ!îû £ëû
£y£zöìvÈþyöì‹˜ !”öìëû– ëy ö‹öìœîû ›öì“þy– ‹œ•yîû’„þyîû# þ™!œ›yîûÐ
!vþ¢öìþ™yöì‹îœ öœª ¢£ öî!Ÿîû¦þy† ˜îû› öœª £y£zöìvÈþyöì‹œ
!”öìëû ÷“þ!îûÐ
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Answers with Explanation

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 12  ~!²Ìœ– 20252

22. (c) þ›y˜îöì”öì£ !“þ˜ •îûöì̃ îû öþ™Ÿ# î“Åþ›y˜– ëíyéôôôé „þBþyœ öþ™Ÿ#–
£*”!þ™öì[þîû öþ™Ÿ# ~î‚ ›¢,’ öþ™Ÿ#îû x‚ŸÐ

23. (a) þò£yšþ ›Äyîûyí˜ó £œ 21.0975 !„þöìœy!›ÝþyîûÐ ~!Ýþ ›Äyîûyíöì̃ îû
xöì•Å„þ ”)îûcÐ £yšþ ›Äyîûyí˜ !îÙ» öîû„þvÅþ!Ýþ xy˜%Ûþy!˜„þ¦þyöìî
!îÙ» xÄyíöìœ!Ýþ: myîûy ßþº#„,þ“þÐ

24. (d) þöî!îûöìî!îû öîûyöì†îû „þyîû’ £œ !¦þÝþy!›˜ éB1ôé~îû ‡yÝþ!“þ–
ëyöì„þ !íëûy!›˜ç îœy £ëûÐ
†ëûÝþyîû öîûyöì†îû „þyîû’ééôôôé xyöìëûy!vþ˜– !¦þÝþy!›˜ A ~î‚
!¦þÝþy!›˜ Déôé~îû ‡yÝþ!“þÐ
!îûöì„þÝþ öîûyöì†îû „þyîû’éôô !¦þÝþy!›˜ Déôé~îû ‡yÝþ!“þÐ
ßþñy!¦Åþ öîûyöì†îû „þyîû’éôô !¦þÝþy!›˜ Céôé~îû ‡yÝþ!“þÐ

25. (c) þ†!“þöìî† = ”)îûc/¢›ëû = 240/3 = 80 !„þ!›/‡ ù̂ÝþyÐ

26. (b) þ=îû&›!hßþöìÜñîû xhsþîû¦þy†öì„þ ö¢!îûîÊyœ ö›v%þœy îöìœÐ ö›v%þœyîû
„þy‹ £œéôô £*”ßþ™¨˜– Ù»y¢éôé²ÌÙ»y¢– îû_«²Ìîy£ ~î‚ x!:öì‹˜
ç „þyîÅ˜ vþy£zx:y£zö ìvþîû ›yey¢£ xöì˜„þ Ÿyîû#!îû„þ
„þyëÅ„þœyþ™öì„þ !˜ëûsþf’ „þîûyÐ öî¤öì‰þ íy„þyîû ‹˜Ä ö›v%þœyîû
¦)þ!›„þy x“þÄhsþ =îû&cþ™)’ÅÐ

27. (a) þò!îû‚óéôéŸ·!Ýþ î!:‚ ç „%þ!hßþ ö…œyîû ¢öìD ¢Á™!„Åþ“þÐ î!:‚öìëûîû
¢öìD ¢Á™!„Åþ“þ x˜Äy˜Ä Ÿ·=!œîû ›öì•Ä îûöìëûöìŠééôô ò~!îû̃ yó–
ò„þ„þ!þ™Ýþó– ò„þÄy˜¦þy¢ó– òöÇþeó– ò!ßþ™Ýþó ~î‚ ò›MþéóÐ

28. (b) x!¦þ˜î !îwy ²Ìí› ¦þyîû“þ#ëû !ë!˜ x!œ!Á™öì„þ ßþº’Åþ™”„þ
öþ™öìëû!Šéöìœ˜Ð !“þ!˜ 2008 ¢yöìœ öî£z!‹‚ x!œ!Á™öì„þ
þ™%îû&¡ìöì”îû 10 !›Ýþyîû ~ëûyîû îûy£zöìšþœ £zöì¦þöìrÝþ ßþº’Åþ™”„þ
!‹öì“þ!Šéöìœ˜Ð

29. (c) þòxÄyöì¢‹ó Ÿ·!Ýþ £z‚œÄyuþ ~î‚ xöìßþTÉ!œëûyîû ›•Ä„þyîû !e«öì„þÝþ
öÝþÞÝþ !¢!îû‹öì„þ öîyGþyöì“þ îÄî£*“þ £öìëû!ŠéœÐ

!e«öì„þÝþ ö…œyîû ¢öìD ‹!vþü“þ xyîûç „þöìëû„þ!Ýþ Ÿ· £œéôô
xy!þ™œ– öî£zœ– îœ– îÄyÝþ £z“þÄy!”Ð

30. (b) þö¢y!vþëûy› £y£zöìvÈþy:y£zvþ ˜y›„þ îûy¢yëû!˜„þ þ™”yíÅ îy x÷ì‹î
öëï†!Ýþ ò„þ!ÞÝþ„þ ö¢yvþyó ˜yöì› öî!Ÿ þ™!îû!‰þ“þÐ ~!Ýþîû îûy¢yëû!˜„þ
¢‚öì„þ“þ NaOHÐ ~!Ýþ ~„þ!Ýþ ¢y”y „þ!àþ˜ þ™”yíÅéôô ëy „þ!àþ˜
~î‚ “þîûœ ”%£z xîßþiyöì“þ£z þ™yçëûy ëyëûÐ

31. (c) þö„þw#ëû xíÅ›sþf# !˜›Åœy ¢#“þyîû›˜ Öe«îyîû S31 ‹y˜%ëûy!îû–
2025V ¢‚¢öì” 2024éôé25 ¢yöìœîû xíÅ÷ì˜!“þ„þ ¢›#Çþy
vþzþ™ßþiyþ™˜ „þöìîû̃ – öë…yöì̃  ‰þœ›y˜ xy!íÅ„þ îŠéöìîûîû xíÅ÷ì̃ !“þ„þ
„þ›ÅÇþ›“þyîû xy˜%Ûþy!˜„þ ›)œÄyëû˜ ²Ì”y˜ „þîûy £ëû ~î‚
ö”Ÿîy¢#îû ¢y›öì̃  •yëÅ “þy!œ„þyöì„þ ‰þÄyöìœöìOîû ›öì“þy “%þöìœ
•îûy £ëûÐ

32. (a) þöšÏþyöìëû› ö„þy¡ì=!œ ~„þ!Ýþ vþz!qöì”îû ¢îÅe …y”Ä ~î‚ þ™%!ÜT
þ™!îûî£’ „þöìîûÐ ~£z ö„þy¡ì vþz!qöì”îû ¦þyßþ%ñœyîû „þœyîû x‚ŸÐ

33. (a) þòvþz£z‚vþ öîû£zvþy¢Å x˜%Ÿ#œ˜ó ›)œ“þ !îöìŸ¡ì¦þyöìî !î›y˜îy!£˜#îû
x!¦þëyöì̃ îû vþzþ™îû ”,!ÜTþ™y“þ „þöìîû ~î‚ ¦þyîûöì“þîû þ™)îÅyMþéœ#ëû
²Ì”ŸÅ̃ ßþiöìœ xyhsþƒöì¢îy ¢›§ºëû ²Ì”ŸÅ̃  „þöìîûÐ ~öì“þ !ßþiîû vþz£z‚

~î‚ ‡)’Å›y˜éôô vþz£z‚ vþz¦þëû !î›y˜ îÄî£yîû „þöìîû !î!¦þ§¬
îyëû%îy!£“þ ¢!§¬öìîŸ ö„þïŸöìœîû ›£vþüy ‹!vþü“þÐ

34. (c) þšÊþyöìªîû !„þ!îûëûy˜ ‹Äyöì„þÝþ 2025 ¢yöìœîû ö‰þ§¬y£z çöìþ™˜ öÝþ!˜¢
þ™%îû&¡ìöì”îû ~„þ„þ !Ÿöìîûyþ™y !‹öì“þöìŠé˜ šþy£z̃ yöìœ ¢%£zöìvþöì̃ îû
~!œëûy¢ £z›yîûöì„þ £y!îûöìëûÐ šþy£z̃ yœ ö…œy!Ýþ x˜%!Ûþ“þ £öìëûöìŠé
9 öšþîÊ&ëûy!îû– 2025éôé~ “þy!›œ˜yvþYîû %̃Dy›îyEþyöì›îû ~¢!vþ~!Ýþ
öÝþ!˜¢ öÞÝþ!vþëûyöì›Ð

35. (d) þ¢)ëÅ– ‰þw– î,£ßþ™!“þ ~î‚ Ÿ!˜îû ¢!îûîkþ“þyîû „þyîûöì’
›£y„%þ½þöì›œy 144 îŠéöìîû ~„þîyîû x˜%!Ûþ“þ £ëûÐ

36. (a) þ‹y“þ#ëû ¢yšþy£z „þ›Å‰þyîû# „þ!›Ÿ˜ SNCSKV ¢y›y!‹„þ
˜Äyëû!î‰þyîû ç Çþ›“þyëû̃  ›sþföì„þîû ~„þ!Ýþ xéôé¢‚!î!•îkþ ¢‚ßþiy
!£öì¢öìî  „þy‹ „þîûöìŠéÐ

37. (a)
1 1

2 3 ?
3 7
 

7 22
?

3 7
 

22 1
? ? 7

3 3
   

 þ!˜öì’Åëû vþz_îû £œ 1
7

3
Ð

38. (b) þ~„þ!Ýþ xyëû“þy„þyîû öÇþöìeîû ÷”‡ÅÄ x˜%ëyëû# ~œy„þy
80 2 160   !›ÝþyîûÐ
~„þ!Ýþ xyëû“þy„þyîû öÇþöìeîû ²Ìßþi x˜%ëyëû# ~œy„þy
60 2 120   !›ÝþyîûÐ
 xyëû“þy„þyîû öÇþöìeîû þ™!îû›yþ™
= 2(80 + 60) !›Ýþyîû = 280 !›ÝþyîûÐ

39. (a) B
E
L
O
W

O
B
W
E
L

D
R
A
F
T

F
D
T
R
A

vþzþ™öìîûîû þ™kþ!“þ x %̃ëyëû#– BELOW öë›˜ OBWEL £öìëûöìŠé–
ö“þ›˜£z vþzþ™öìîûîû þ™kþ!“þ x˜%ëyëû#– DRAFT £öìëûöìŠé
FDTRAÐ

!˜öì”ÅŸ (40 - 41) :

P

R

U
T S

Q

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



3Achievers
40. (c) ²ÌÙÀy˜%¢yöìîû– P, – Q xyîû Réôé~îû ›yöìGþ îûöìëûöìŠé˜Ð

41. (a) ²ÌÙÀy˜%¢yöìîû– ˜#öì‰þîû ë%@Â=!œîû ›öì•Ä ö„þîœ›ye ~„þ!Ýþ ë%öì@Â
~„þ‹˜ ¢”¢Ä ”%£z ¢”öì¢Äîû ›yöìGþ îöì¢ xyöìŠéÐ

ö¢£z ë%@Â!Ýþ £œ QU öë…yöì̃ Séôé~£z ”%£zöìëûîû ›yöìGþ îöì¢
xyöìŠéÐ

42. (d) îûyöì›îû e«›yBþ ”%éôéþ™yŸ öíöì„þ þ™Mþé› £öìœéôô œy£zöì̃  ö›yÝþ 9
‹˜ îÄ!_« îûöìëûöìŠé˜Ð

”%éôé!”„þ öíöì„þ ßþiyöì̃ îû öëy†šþœ 5 + 5 – 1 = 9

1   2    3   4 5
îûyöì›îû ßþiyöì˜

6   7    8   9

43. (c)
× 2 – 2 × 2 – 2 × 2 – 2 × 2 – 2 × 2 – 2

4 6 10 18 34 66

¢%“þîûy‚ ?  !‰þ!£«“þ ßþiyöì̃ 18 £öìîÐ

44. (d) ö„þyöì̃ y îlßþîû !îe«ëû ›)œÄ ~î‚ e«ëû ›)öìœÄîû x˜%þ™y“þ
7x : 5x

 ú îlßþîû œy¦þ 7x – 5x = 2x

 îlßþ!Ýþîû œy¦þ ç e«ëû ›)öìœÄîû x˜%þ™y“þ £öìî

2x : 5x = 2 : 5

 vþz_îû £öìî (d) ö„þyöì̃ y!Ýþ£z ˜ëûÐ

45. (c) é
3 3

3
3

3 (3)
(0.3)

10 (10)
   
 

3 3 3 27
0.027

10 10 10 1000

 
  
 

(0.3)3ôé~îû ›y˜ £öìî = .027

46. (b) 841 29 £öìœ

841 8.41 0.0841 0.000841  

841 841 841
841

100 10000 1000000
   

29 29 29
29

10 100 1000
      

(29 2.9 0.29 0.029) 32.219    

47. (a)

BCB DED FGF HIH JKJ

+2+2+2 +2+2+2

+2+2+2 +2+2+2
BCB,     DED,      FGF,        HIH,       JKJ

48. (c) •!îû– îûyöì›îû ö›yÝþ vþzþ™y‹Å̃ = x

35% of x = 17,500

100
x 17,500 50,000

35
    `

49. (c) þ1203 : 2406 £öìœ– ²ÌöìÙÀ ²Ì”_ ë%öì@Âîû ¢öìD !›œ öîûöì…
vþz_îû £öìî

1203 × 2 = 2406

 1234 × 2 = 2468

50. (a) •îûy ëy„þ– ¢‚…Äy ”%!Ýþ £œ 3x ~î‚ 4x

“þy£öìœ– 3x + 4x = 56

 7x = 56  x = 8

3x = 24 ~î‚ 4x = 32

 ¢‚…Äy ”%!Ýþ £œ 24 ~î‚ 32

51. (b) öëöì£“%þ 144 12  ~î‚ 256 16

“þy£öìœ– 12 + 16 = 28 £öìîÐ

52. (b) •!îû– îlßþ!Ýþîû e«ëû›)œÄ `x

“þy£öìœ– x + 0.2x = 240

 1.2x = 240

 x = 200

 îlßþ!Ýþîû e«ëû›)œÄ `200

53. (a) Aéôé~îû œ¦þÄy‚Ÿ =
Aéôé~îû ›)œ•˜
ö›yÝþ ›)œ•˜

ö›yÝþ œ¦þÄy‚Ÿ×

50000
24000

50000 70000
 



50000
24000 10,000

120000
  `

54. (b) 38, !¢!îûöì‹îû þ™ÄyÝþy˜Å!Ýþ £œ +3, +5, +7, +9, +11

3 6 11 18 27 38

+3 +5 +7 +9 +11

55. (c)

C DB E
¦þy£z öîy˜

A

!þ™“þy
öŠéöìœ

…%vþü“%þöì“þy ¦þy£z/öîy˜

 éC £œ éDôé~îû …%vþü“%þöì“þy ¦þy£zÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 12  ~!²Ìœ– 20254

56. (d) A

C

B

D

“þy£öìœ ¢î öíöì„þ öî¤öìÝþ £œ D

57. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 40 ˜‚ x˜%öìFŠéöì” þ™Mþéyöìëû!“þ îûyöì‹îû
•yîû’y!Ýþ î!’Å“þ xyöìŠéÐ ~…yöì˜ îœy £öìëûöìŠé– îûy‹Ä @ùÌy›
þ™Mþéyöìëû“þ=!œöì„þ ¢‚†!àþ“þ „þîûyîû ~î‚ ßþºéôéŸy¢öì̃ îû ~„þ„þ
!£öì¢öìî „þy‹ „þîûyîû ‹˜Ä “þyöì”îû Çþ›“þyëûöì̃ îû þ™”öìÇþþ™ ö˜öìî–
›)œ“þ @ùÌy› þ™ëÅyöìëû ~„þ!Ýþ !îöì„þw#¦)þ“þ ßþiy˜#ëû Ÿy¢˜ îÄîßþiy
²Ì!“þÛþyîû ‹˜Ä ²Ì‰þyîû „þîûöìîÐ

58. (d) „þyîÅ˜ vþy£zx:y£zvþ– !›öìí˜– ˜y£zÝþÆy¢ x:y£zvþ ~„þ¢öìD
!@ùÌ˜£yvþz¢ †Äy¢ ¢,ÜT £ëûÐ
!@ùÌ˜£yvþz¢ †Äy¢ £œ îyëû%›[þöìœîû †Äy¢ ëy “þyþ™ •öìîû îûyöì…
~î‚ þ™,!íî#öì„þ ‹#îöì̃ îû ‹˜Ä ëöìíÜT vþz¡Œ îûyöì…Ð ~îû ›öì•Ä
îûöìëûöìŠé ‹œ#ëû îyÜ™– „þyîÅ̃  vþy£zx:y£zvþ– !›öìí˜– ˜y£zÝþÆy¢
x:y£zvþ ~î‚ çöì‹y˜Ð

59. (c) xy†Å̃  SArV †Äy¢ þ™,!íî#îû îyëû%›[þöìœ ¢îöì‰þöìëû ²Ì‰%þîû þ™!îû›yöì’
þ™yçëûy ò›£ê †Äy¢óÐ ~!Ýþ ~„þ!Ýþ îûy¢yëû!˜„þ vþzþ™y”y˜– ëy
†õþ£#˜– î’Å£#˜ ~î‚ ßþºy”£#˜Ð

60. (b) xyöìœy„þ Ÿ!_«öì„þ îûy¢yëû!˜„þ Ÿ!_«öì“þ îû*þ™yhsþîû „þîûyîû
²Ì!e«ëûy!Ýþöì„þ ¢yöìœy„þ¢‚öìÙÕ¡ì’ îœy £ëûÐ ~£z ²Ì!e«ëûyëû vþz!q”
ö„Ïþyöìîûy!šþœ myîûy ¢)ëÅyöìœy„þ @ùÌ£’ „þöìîû ~î‚ „þyîÅ̃  vþy£zx:y£zvþ
~î‚ ‹œ öíöì„þ !‰þ!˜îû x’% S@Õ%öì„þy‹V ÷“þ!îûöì“þ îÄî£yîû
„þöìîûÐ vþz!q” „þœyîû ›öì•Ä îûy¢yëû!˜„þ xy„þyöìîû Ÿ!_« ¢Mþéëû
„þöìîûÐ

61. (a) „þöìëû„þ‹˜ ¦þyîû“þ#ëû £öìœ˜ þ™![þ“þ îÄ!_«– xyîyîû „þöìëû„þ‹˜
þ™![þ“þ îÄ!_« £öìœ˜ ¦þyîû“þ#ëû ~î‚ ¢›hßþ ¦þyîû“þ#ëû ç þ™![þ“þ
îÄ!_«îûy £öìœ˜ ›y˜%¡ìÐ

›y˜%¡ì

þ™![þ“þ
îÄ!_« ¦þyî

û“þ#ë
û

62. (c) ›yŠé îy fish ‹öìœ ¢¤y“þyîû „þyöìÝþ– xyîyîû ‹œ îy water
îœöì“þ heat ö„þ öîyGþyëûÐ

63. (b) 25 5, 49 7,   “þy£z ›yöìGþîû!Ýþ £öìî 57,

~„þ£z¦þyöìî– 81 9, 4 2,  “þy£z ›yöìGþîû!Ýþ £öìî 92,

~„þ£z¦þyöìî– 121 11, 36 6,  “þy£z ›yöìGþîû!Ýþ £öìî 116.

64. (b) !ÝþéôéŸyöìÝÅþîû x!Bþ“þ ›)œÄ ` 150– ëyöì“þ Šéyvþü ö”çëûy £öìFŠé
18%.

Šéyvþü ö”çëûy £öìFŠé 150 × 18%
18

150 27
100

  

 !ÝþéôéŸyöìÝÅþîû !îe«ëû ›)œÄ £öìî
` 150 – 27 = ` 123 Ýþy„þyÐ

65. (b) 1 !”˜ = 24 ‡ ù̂Ýþy
1 ‡ ù̂Ýþy = 60 !›!˜Ýþ
 1 !”˜ = 24 × 60 = 1440 !›!˜Ýþ
 36 !›!˜öìÝþîû 1 !”öì̃ îû Ÿ“þy‚Ÿ !£¢yî £œ (36/1440)
× 100 = 2.5%
 36 !›!˜Ýþ 1 !”öì̃ îû 2.5%.

66. (a) ¢îûœ ¢%öì”îû £yîû !˜’Åëû „þîûyîû šþ›%Åœy
P R T

SI
100

 


SI = ¢îûœ ¢%” [Simple Interest]
P = ›)œ•öì̃ îû þ™!îû›y’ S²Ìyí!›„þ xöìBþ xíÅV
[Principal Amount]
R = îy!¡ìÅ„þ ¢%öì”îû £yîû [Rate of Interest per annum]
T = ¢›ëû SîŠéöìîûV [Time (in year)]
²ÌöìÙÀ ²Ì”_ “þíÄ myîûy þ™y£z­
(i) T = 4 îŠéîû– SI = 30

1500 R 4
30

100

 


¢›#„þîû’!Ýþ !îöìÙÕ¡ì’ „þöìîû þ™y£z–
6000R

30
100



30 = 60 R

R îy îy!¡ìÅ„þ ¢%öì”îû £yîû
30

0.5%
60
 

(ii) T = 8 îŠéîû– SI = 60

1500 R 8
60

100

 


¢›#„þîû’!Ýþ !îöìÙÕ¡ì’ „þöìîû þ™y£z–
12000 R

60
100



60 = 120 R

60
R 0.5%

120
 

 vþz¦þëû ¢›#„þîû’ öíöì„þ£z þ™y£z– ¢îûœ ¢%öì”îû îy!¡ìÅ„þ £yîû
£öìî 0.5% Ð

67. (c) ab / ba / ab / ba / ab / ba

68. (d) 3 3 3 31 1 2, 2 1 9, 3 1 28, 4 1 65       

~£z e«›y˜%¢îû’ „þöìîû £ëû– 35 1 126 
69. (b) ö¢“%þ!Ýþ x!“þe«› „þîûöì“þ ¢›ëû œyöì† = SöÝþÆ̃ !Ýþîû ÷”‡ÅÄ +

ö¢“%þîû ÷”‡ÅÄV/öÝþÆ̃ !Ýþîû †!“þöìî†

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å



5Achievers
 20 ö¢öì„þuþ = (75 + 125) / öÝþÆ̃ !Ýþîû †!“þöìî†
 öÝþÆ̃ !Ýþîû †!“þöìî† = 200 / 20 = 10 !›Ýþyîû/ö¢öì„þuþ
öÝþÆ̃ !Ýþ ²ÕÄyÝþšþ›Å x!“þe«› „þîûöì“þ ¢›ëû ö˜ëû =
SöÝþÆ̃ !Ýþîû ÷”‡ÅÄ + ²ÕÄyÝþšþöì›Åîû ÷”‡ÅÄV / öÝþÆ̃ !Ýþîû †!“þöìî†
 öÝþÆ̃ !Ýþ ²ÕÄyÝþšþ›Å x!“þe«› „þîûöì“þ ¢›ëû ö˜öìî
(75 + 65) ÷ 10

140

10
 = 14 ö¢öì„þuþÐ

70. (a)
vþz_îû

”!Çþ’

þ™!Øþ› þ™)îÅ

”!Çþ’éôéþ™!Øþ› ”!Çþ’éôéþ™)îÅ

vþz_îûéôéþ™!Øþ› vþz_îûéôéþ™)îÅ

45º

45º

45º

vþz_îûéôéþ™)îÅ

²Ìí› xîßþiy˜

 ~…˜ !îû›y vþz_îûéôéþ™)îÅ !”„þ îîûyîîû xyöìŠéÐ
71. (a) öœy„þ!Ýþîû ßþf# = ›!£œyîû îyîyîû ~„þ›ye ö›öìëû

               ~„þ›ye „þ˜Äyîû îyîyÐ
öœy„þ öœy„þ!Ýþîû ßþf#/îyîyîû ~„þ›ye „þ˜Äy

›!£œyîû ßþºy›#
 öœy„þ!Ýþ £œ ú ›!£œyîû ßþºy›#Ð

72. (b) ”%!Ýþ þ™îû›y’% þ™îûßþ™öìîûîû £zöìœ„ÝþÆ̃ öì„þ ¦þy† „þöìîû öë îûy¢yëû!˜„þ
îõþ˜ ÷“þ!îû „þöìîû– “þyöì„þ ¢›öìëy‹# îõþ˜ îöìœÐ ¢›öìëy‹#
îõþ˜ ¢y•yîû’“þ x•y“%þîû ›öì•Ä ‡öìÝþÐ

73. (a) ‰þyöìþ™îû SI ~„þ„þ £œ þþ™yßþñyœ (Pa)Ð
~!Ýþ ‰þyþ™– x¦þÄhsþîû#’ ‰þyþ™– £zëû‚¢ ›v%þœy¢ ~î‚ ‰)þvþüyhsþ ²Ì¢yîû“þy
þ™!îû›yöìþ™îû „þyöì‹ îÄî£*“þ £ëûÐ

74. (a) 5!Ýþ ¢‚…Äyîû ¢›!ÜT 5 × 20 = 100
4!Ýþ ¢‚…Äyîû ¢›!ÜT 4 × 18 = 72
 îy” ëyçëûy ¢‚…Äy!Ýþ £öìî = 100 – 72 = 28

75. (a) ‹!›îû þ™!îû›y’ 2 2 222 22
r 7 49 154 cm

7 7
     

76. (a) !‰þe=!œîû e«›y˜%ëyëû# þ™îûî“Åþ# !‰þe!Ýþ £öìî ¢®¦%þ‹Ð
77. (c) ²Ìëûy†îûyöì‹ ›£y„%þöì½þ þ™””!œ“þ £öìëû ›,“%þÄîû ‡Ýþ˜yîû “þ”öìhsþîû

‹˜Ä !“þ˜ ¢”öì¢Äîû !î‰þyîû !î¦þy†#ëû „þ!›Ÿ˜ †àþ˜ „þîûy
£öìëû!ŠéœÐ ~£z !“þ˜ ¢”öì¢Äîû ›öì•Ä !Šéöìœ é̃ôô £¡ìÅ „%þ›yîû– þ™Äyöì̃ œ
¢”¢Ä ²Ìy_«˜ þ™%!œŸ ›£yþ™!îû‰þyœ„þ S!vþ!þ™V !¦þ ö„þ =®y ~î‚
xî¢îû²Ìy® xy£z~~¢ x!šþ¢yîû !vþ ö„þ !¢‚Ð

78. (b) ò!îÙ» ‹œy¦)þ!› !”î¢ó ²Ì!“þ îŠéîû 2 öšþîÊ&ëûy!îû þ™y!œ“þ £ëûÐ
~£z !”î¢ 1971 ¢yöìœ ²Ìí› vþz”ëyþ™˜ £ëûÐ

79. (b) 2025 éôé26 ¢yöìœîû ö„þw#ëû îyöì‹öìÝþ ö‡y!¡ì“þ ‹y“þ#ëû
¦)þéô éßþ iy!˜„þ !›Ÿöì˜îû ²Ìyí!›„þ œÇþÄ £œ ¦)þ!› öîû„þvÅþ
xy•%!˜„þ#„þîû’ ~î‚ ˜†îû þ™!îû„þÒ˜y vþz§¬“þ „þîûyÐ

80. (c) 2025 ¢yöìœîû öšþîÊ&ëûy!îûöì“þ xöìßþTÉ!œëûy ~„þ!Ýþ ˜“%þ˜ òöšþï‹”y!îû
ö„þyvþ ¢‚öìŸy•˜ S‡,’y xþ™îûy•V !îœó þ™y¢ „þöìîû ëy ‡,’y myîûy
¢,ÜT xþ™îûy• xy£z̃ =!œöì„þ vþzöìÍÔ…öìëy†Ä¦þyöìî Ÿ!_«Ÿyœ# „þöìîûÐ
~£z xy£z̃  !îöìŸ¡ì“þ ˜yê¢# ²Ì“þ#öì„þîû ²Ì„þyŸÄ ²Ì”ŸÅ̃ öì„þ– ‹y!“þ–
•›Å– öëï˜ x!¦þ›%!…“þy– !œD þ™!îû‰þëû ~î‚ xyîûç xöì̃ „þ
!„þŠ%éöì„þ !¦þ!_ „þöìîû !˜!”ÅÜT ö†yÛþ#îû !îîû&öìkþ ¢!£‚¢“þyîû þ™öìÇþîû
¢›íÅöì̃  £zý!”éôé!îöìîûy•# „þyëÅ„þœyöìþ™îû !îîû&öìkþ ¢%îûÇþy £z“þÄy!”öì“þ
”,!ÜTþ™y“þ „þöìîûöìŠéÐ

81. (c) xþ™îûy•›)œ„þ „þy‹ „þîûyîû ‹˜Ä !î‰þyöìîûîû vþzöìjöìŸÄ ö„þyöìÝÅþ
öëöì“þ £ëûÐ ~„þ£z¦þyöìî öîûy† £öìœ !‰þ!„þê¢yîû ‹˜Ä
£y¢þ™y“þyöìœ öëöì“þ £ëûÐ

82. (b) ›y˜%¡ì „Ïþyhsþ £ëû ë…˜ ö¢ x!“þ!îû_« „þy‹ „þöìîû ”%îÅœ“þy x˜%¦þî
„þöìîûÐ ~„þ£z¦þyöìî ›y˜%¡ì “þ…˜£z …%!Ÿ £ëû ë…˜ ö¢ ö„þyöì̃ y
„þyöì‹ ¢šþœ“þy x‹Å̃  „þöìîûÐ

83. (b) ²ÌÙÀy˜%¢yöìîû–
ö”…y ëyëû ¢îyîû vþzþ™öìîû îöìvþüy £œ ”#!®Ð

”#!®

öÙ»“þy

¢#›y

îûy‹%

¢#“þy

84. (b) •îûy ëy„þ– îû!£öì›îû „þy„%þîû îëû¢ = x îŠéîû
 îû!£öì›îû î“Åþ›y˜ îëû¢ = (x – 30) îŠéîû
7 îŠéîû þ™îû vþz¦þöìëûîû ö›yÝþ îëû¢ £öìFŠé 66 îŠéîûÐ
“þy£öìœ– (x + 7) + (x – 30 + 7) = 66
2x + 14 – 30 = 66
2x = 96 – 14

82
x

2


 x = 41
“þy£öìœ îû!£öì›îû „þy„%þîû î“Åþ›y˜ îëû¢ 41 îŠéîûÐ

85. (d) ö¢y£öì›îû ßþiy˜ ²Ìí› öíöì„þ Öîû& „þöìîû ¢®› ~î‚ öŸ¡ì öíöì„þ
Öîû& „þîûöìœ ë!” 26“þ› £ëû– “þöìî „Ïþyöì¢ ö›yÝþ 32 ‹˜
ŠéyeŠéye# xyöìŠéÐ
”%éôé!”„þ öíöì„þ ßþiyöì̃ îû öëy†šþœ 7 + 26 – 1 = 33 – 1
= 32 ‹˜Ð

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 12  ~!²Ìœ– 20256

86. (d) DEA : 10, ~…yöì̃  xÇþöìîûîû ¢‚…Äy x˜%ëyëû# ¢y‹yöìœ þ™y£z–
D     E      A  : 10

4  +  5  +  1 = 10

~„þ£z¦þyöìî– A     C      E   :  ?

1  +  3  +  5  =  9

ACE : 9£öìîÐ
87. (d) ~„þ!Ýþ ‡!vþü „¤þyÝþy Šéyvþüy x¢Á™)’Å “þy£zÐ ¢!àþ„þ !î„þÒ (d)

88. (c) E  A  T

3   1  8

~î‚ C   H   A   I   R

2    4    1   5    6

£ëû– “þöìî

T   E   A   C   H   E   R

8    3    1   2    4    3   6

  £öìîÐ

89. (d)

A

!e¦%þ‹ xy„,þ!“þîû !¦þ“þöìîû !“þ˜!Ýþ öîû…y xyöìŠéÐ

B

 î†Åy„þyîû xy„,þ!“þîû !¦þ“þöìîû !“þ˜!Ýþ öîû…y xyöìŠéÐ

C

¢y›yhsþ!îû„þ xy„,þ!“þîû !¦þ“þöìîû !“þ˜!Ýþ öîû…y xyöìŠéÐ

D

 î,öì_îû xy„,þ!“þ– ëyîû !¦þ“þöìîû !“þ˜!Ýþ öîû…y xyöìŠéÐ

E

 ¢›yhsþîûyœ xy„,þ!“þîû !¦þ“þöìîû ‰þyîû!Ýþ öîû…y xyöìŠéÐ

¢%“þîûy‚– (E) !‰þöìe ‰þyîû!Ýþ öîû…y îûöìëûöìŠé– öë…yöì̃  îy!„þ ‰þyîû!Ýþ
!‰þöìeîû !¦þ“þöìîû !“þ˜!Ýþ öîû…y îûöìëûöìŠéÐ
¢%“þîûy‚– ¢!àþ„þ vþz_îû £œ (d)

90. (a) 4!Ýþ x˜%îû*þ™ vþzþ™y”y˜ ¢Áº!œ“þ !˜Á¬!œ!…“þ ö¢Ýþ=!œöì“þ– ²Ìí›
~î‚ öŸ¡ì vþzþ™y”y˜=!œ ~„þ£z ~î‚ ›yöìGþîû ”%!Ýþ vþzþ™y”y˜ £œ
îy!„þ ”%!Ýþîû ‹öìœîû ²Ì!“þFŠé!îÐ
!„þlsþ !‰þe SEV ö“þ– vþzþ™y”y˜=!œ x˜Äöì”îû ›öì“þy ~„þ£z •¤y‰þ
x˜%¢îû’ „þöìîû ˜yÐ

E

x“þ~î– ¢!àþ„þ vþz_îû £œ SaVÐ
91. (d) ²Ìí› !“þ˜!Ýþ !î„þÒ ~„þ£zîû„þ›– ‰þŸ›y ¢Á™!„Åþ“þÐ

Ö•% ‰þ“%þíÅ !î„þÒ!Ýþ xyœy”yÐ
92. (b) xy›îûy öë þ™yíÅ„þÄ ö”…öì“þ þ™y!FŠé “þy £œ !î %̈îû xîßþiy˜Ð

‡˜öìÇþe îy !e¦%þöì‹îû xîßþiy˜ þ™!îûî“Åþ˜ £öìœç !î %̈=!œ
î†ÅöìÇþöìeîû ~„þ£z þ™yöìŸ íyöì„þÐ
!„þlsþ !‰þìe Côé~îû !î %̈îû xîßþiy˜ ö„þy˜y„%þ!˜¦þyöìî !îþ™îû#“þÐ

A B C D E

¢%“þîûy‚– ¢!àþ„þ vþz_îû £œ SbV
93. (b) ~…yöì̃  ¡ìvþü¦%þ‹ Šéyvþüy îy!„þ îý¦%þ‹=!œöì“þ !îöì‹yvþü ¢‚…Ä„þ

îyý îûöìëûöìŠéÐ ~„þy”Ÿ¦%þöì‹îû 11!Ýþ îyý îûöìëûöìŠé– ¢®¦%þöì‹îû
7!Ýþ îyý ç þ™Mþé¦%þöì‹îû 5!Ýþ îyý îûöìëûöìŠéÐ ö„þîœ– ¡ìvþü¦%þ‹
~…yöì̃  öî›y˜y˜– „þyîû’ ~îû ö‹yvþü ¢‚…Ä„þ xíÅyê 6!Ýþ îyý
îûöìëûöìŠéÐ ¢%“þîûy‚ !î„þÒ (b) ¢!àþ„þ vþz_îûÐ

94. (b) ë"y öîûy†!Ýþîû myîûy ›y˜î Ÿîû#öìîûîû xye«yhsþ xD!Ýþ £œ
š%þ¢š%þ¢Ð ~„þ£z¦þyöìî– Ýþy£zšþöìëûvþ öîûy†!Ýþîû myîûy ›y˜î Ÿîû#öìîûîû
xye«yhsþ xD £œ xsþfÐ

95. (a) 139 : 228  228 – 139 = 89
122 : 211  211 – 122 = 89
2 : ?  x – 2 = 89
 x = 89 + 2  x = 91

¢%“þîûy‚– ¢!àþ„þ vþz_îû (a) 91.

96. (d) ¢›ëû
”)îûc

†!“þ
= =

1050
75 = 14 ‡^ùÝþy Ð

97. (b) ¢›hßþ !îöì‹yvþü þ™)’Å¢‚…Äyîû †vþü £œ
3 5 7 9 11 13 15 17 19 21

10

        


120
12

10
 

98. (c)   0.9 2.3 3.2 7.1 5.4 3.5      

=   0.9 2.3 3.2 7.1 8.9     

=  0.9 2.3 3.2 1.8    

 0.9 0.9 0  
99. (d)  a * b = a + b – ab

 5 * 7 = 5 + 7 – 5 × 7
= 12 – 35
= –23

100. (c) !˜öì’Åëû x˜%þ™y“þ
12 8 20 5

5 :1
12 8 4 1


   


xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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